
STYKLISTE
Side 1

MODEL 9207SPC

Pos. Art.nr. Betegnelse Stk. Note

001 528733-0 FELT (9207SPC)   1 220V
002 911295-9 6KANT-SKRUE M5X70   2
003 411263-7 RING   1
004 211033-2 KUGLELEJE ### 211031-6   1
005 681621-3 ISOLERINGSSKIVE   1
006 512813-2 ANKER (9207SPC)   1 220V

INC. 4-7
007 241080-9 FAN 68   1
008 315733-7 AFDÆKNING FOR GEARHUS   1
009 421275-2 OPLÄGGER   1
010 251306-1 SKRUE M5(+)   2
011 211201-7 KUGLELEJE 6002LLB   1
012 961055-9 LÅSERING S-15   1
013 285816-6 KUGLELEJERING   1
015 911261-6 SKRUE M5x40   4
016 312355-4 GEARHUS (9207SPC)   1
019 212005-0 NÅLELEJE 810 (4300BA)   1
020 961052-5 LÅSERING S-12   1
021 221365-9 TANDHJUL 44   1
022 285805-1 KUGLELEJERING 22-34   1
023 211106-1 KUGLELEJE 6201LLB   1
024 312795-6 LEJEHUS (9207B)   1
025 213301-9 TÆTNING 20   1
026 911121-2 SKRUE   4
027 325433-1 SPINDEL (9207SPB)   1
028 254002-0 KILE 3   1
029 224515-5 FLANGE 48   1
030 911173-3 SKRUE M4x45   2
031 687010-0 BÅND   2
032 818639-3 LABEL   1
033 855321-3 NAME PLATE 9207SPC   1
034 953106-2 SKRUE TIL TYPESKILT 0,5mm   2
035 181030-1 KULSÆT CB-100   1
036 643600-9 KULDÆKSEL 6-10   2
038 631069-9 ELEKTRONIK   1
039 263014-2 GUMMISTIFT 4 (HM0810B)   1
040 213261-5 O-RING 17 (HM1317C)   1
041 271411-8 DREHKNOPF   1
042 159739-3 MOTORHUS KOMPLET 9217SPC   1

INC. 39
043 646327-0 DROSSEL 646327-0   1
044 665516-8 POWER SUPPLY CORD 1.00-2-2.5   1
045 682502-4 KABELBESKYTTER 8-85   1
046 687001-1 KABELKLEMMPLADE (BO4510)   1
047 911133-5 SKRUE M4x18 (BO4510)   2
048 645173-8 KONDENSATOR 645173-8   1
049 911103-4 SKRUE M4x6   2
050 651018-0 AFBRYDER HPAHR2-3S   1
052 911153-9 SKRUE M4X28 (DP4700)   2
053 155625-6 HÅNDGREB FOR DÆKSEL (9207SPC)   1
054 685727-9 DOUBLE-COATED ADHESIVE SHEET   2
400 152492-0 SIDEGREB 36   1
401 781008-0 GAFFELNØGLE 17   1
402 782412-6 NØGLE   1
403 794176-0 POLERHÆTTE 180 MM   1
404 743012-7 "GUMMIBAGSKIVE 170MM 5/8"""   1
405 794094-2 ABRASIVE DISC 180 #50   1



EKSPLOSIONSTEGNING
Side 1

MODEL 9207SPC


